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Note: This question paper contains two parts A and B.
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Part A is compulsory which carries 25 marks. Answer all questions in Part A,
Part B’ consists:of 5 Units. Answer: any one full question: from each unit. Each
question carries 10 marks and may have a, b, ¢ as sub questions.

Part-A (25 Marks)
Ifh=1, find AECx)). o [2m]
Evaluate Atan™' x. o, S [3m]
Apply Euler’s method to ,ﬁ/r;d y(O 2’) given that y'=x+y, y(0)=1 choosing
h=0.2. AN [2m]
Establish the formula o fmd the §quaiie root of a number N by Newton Raphson
method. By _ __“M““”‘“ww,.m; : [3m]
If finite Fourier sine trar\léform of f is —( =gy L find f(x). [2m]
o ‘\ '
A .\\ & N _ I .
Find the Fox{./neiftra@fogln of f‘@ ) = [3m]
G f’“‘\ _
Form the partial- dﬁfferenua} eqwatlon from z=ax+by + 24 . [(2m]
w S, ,f 5 b
oy T 9ty , O%u
The three possible solytronsy.ef —5=C" — [3m]
y e oxt o -
are 1) JOUUO
i) oo,
1515 T
Show-that ¥ = (x+3y)i+(y- 3z)J +(x 2z)k- is solenoidal. © [2m]
Find V(x’yz). [3m]
Part-B s - (50 Marks)

Express the polynomial x* —2x> +x—1 in terms of factorial notation:
Fit a straight line y= a + bx by least squares method.

1 ]2 3[4 |5
y| 14274055 | 68

OR




3.aj.

6.4)

b)

b)

10:°

1.

Find the half range coﬁg_}je_ ;\é@e{ fla

Using .Newton’s forwa'rd interpolation formula find the value of f(1.6)
x| 1 14 {18 (22

y13.491482 59665
Fit a curve of the form y =ab® by the method of least squares

Ix 213 T4 [s5s 16
|y _183]154{33.1[652]1274

Find y(0.2) using Runge Kutta fourth order formula, given that
dy _ .
=xy+1 y(0}=2,
e y(0)=
‘ OR
Use Euler's meodified formula to find y(0.2)," %:kf‘wy, y(0) = 2, taking

h=02.

Obtain the Fourier series fo'i/ th-e“tfun&ti‘on fx)=x-x*in-T<x<l.

Using Fourier integral sheirv /t/hﬁ"f* J. w W= %e”‘ (x > O) .

sum of series “”+-7-l;—7—¥-.7+3\£
y A . 2 3 4:%

~leosx O<x<a
Find the Foﬂnen_Trgnsform bﬁ f {;\) { 0 S .
_ < x=a

[
.v *“x\_ Y

Solve the foﬂowm% paﬂlﬁlxdlfferentlal equation x*p” +y'q> =7".
"-\«,, ) gffr OR

L = _ - a2 2
Find the general solution of the wave equation -ZTI:- =C? Ou

If Fi(x®-y)iv(2xz— y)j+kevaluate { Fdr straight liné joining the
y [

points (0,0,0) to (1,2,4).
OR _
Verify Green’s theorem for j C(y—sin x)dx+cos xdy where C is the triangle

formed the pomts (0,0); (2 J and (f ,IJ.
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